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JI¥oz FObs HAstE 5,000,000
2HEE 29
R Z AR AH| 20,0002 4% x93
T2l 300,000 x93
£ 2
= 110,000 %33
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s gl 12,000, 0002 *8%
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H: =0 ot BMIDR
Sl BASISTAl JlY £4 (ol @)
SA - BB B (BA) - MEAY - BYS ofl &k o San HDE2
LMy 2 =24l 4,000,000 4,000
O32% &g NMEge ¢ 29 100,000 x4 3] 400
307 QI2t0| & 220,000 100,000 120,000
AlH] 110,000
T4l 110,000
05 QIZtR &2 220,000 100,000 120,000
OfznXddyH 29 & 220,000, 000& 220,000
Al HI 110,000
2| 110,000
308 XX SHAMSO0IA ,012,083 1,007,011 5,072
08 I 20 HstE = ,012,083 1,007,011 5,072
OstunaAH X3 115,000, 000& 115,000
OStHAR XY(S - DD, SAADSD 17
T20d) 560,000,000& 560,000
ONEBE YD WHNL(LL011)
50,000, 000& 50,000
OstsHAHMMHI (= - = - 1) 100,000, 000& 100,000
otsA 24 X& 101,868, 000& 101,868
OZLSYUE Z2ME AY 29 X8
23,840,000& 23,840
Oxs&W o8N 249 X 20,000, 000& 20,000
OxsS&u ME+H I X3 20,000,000 20,000
OKRX& el X3 21,375
1008 Ol & 525,000 254 A 13,125
- 508 ~ 99¥ 450,000 * 1000 & 4,500
- 499 0l ot 375,000 10 A 3,750
SNEs & 708,668 356,294 352,374
SEMNSS 2EZ2 2= 708,668 356,294 352,374
A2 2Y 687,968 344,674 343,294
101 2124 d| 90,683 88,584 2,099
04 JIZtHI22XNSE 90,683 88,584 2,099
OS2 ANE 2HYER EX 90,683
Ol 24 H| 65,6703 x4H »250! 65,670
=Xt 65,670& *4H x523= 13,660
DN 65,6703 *4H x 12 3,153
- RAUAZEEREE 2 82,488,000& *4.5% 3,712
g Eed"2 82,488,000& *1.5% 1,238
M EEREE2 82,488,000& *0.704% 581
-2 AHAEEHEHZ 82,488,000 *3.035% 2,504
SOOI RUABEHELE S
2,504,000& *6.55% 165
201 LEr2 Y| 170,953 131,849 39,104
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B SN2 52
Sl SASE AEa 2E CERED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
01 At 22l bl 81,786 63,259 18,527
OS2 S HES 24,386
HASE(YY, DPFL S)
10,000& #1300 A~ x 128 1,560
- SAIEX 20,000 * 1304 & 260
EHFY(SE/22}) 400,000 * 1304 & 5,200
SH&E A 2t 5,357
-Hl%, HHESE 10,000& #1304 A% 12 1,560
-SHE X 250,000& * 134 A~ 3,250
- 2| HEH 8,400 x 1304 & 110
- BHIIAEH 8,400& 52l 437
A 30,000 «20f A« 12& 720
M 4 500 * 13 A x12€ 702
BPS E  N =X~ 34,900& 11 A %12 4,607
A2 deEE P (2 E)
100, 000& *13JH 2 1,300
MNRES 7Y 30,000 130 A x12& 4,680
OXSENE S22 HE 3,000,000& 3,000
OS2z 2AIE
35,000& *83| x 13| A+ 12& 43,680
OANE 22 S22 X 2AIE
35,0003 *83| x2 0 A x12& 6,720
OX2T NS SIHARY} /29X /3as
4,000,000& 4,000
02 35244l 89,167 68,590 20,577
OS2 AHE B222=2 400,000 x12& 134 & 62,400
O&dSE HEA 109, 000& *13IH 2~ 1,417
ORo&EH =2 150,000 122 * 1304 & 23,400
OA& &l S XYl 150, 000& *13IH 2~ 1,950
203 & R =&t 1,000 500 500
03 AIHZ=X SR =AH| 1,000 500 500
OS2 NE RN 1,000, 000& 1,000
301 Yere A 339,132 56,441 282,691
11 IIEtE &2 339,132 56,441 282,691
OS2 NIASAMX AHEA
38,8203 6 x52F= x28H 339,132
401 A EHI L 2O 17,200 12,300 4,900
01 Al&H| 17,200 12,300 4,900
OALFAR AIE B 15,000,000& 15,000
OCCTV & (B REe) 2,200,000& 2,200
405 Ko SHI 69,000 55,000 14,000
01 It = S F SHI 2,000 1,000 1,000




SN BaSED
B SN2 52
Celr SASS A 2E (B9 ®R)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
oz 23 2,000
NIt (DrxIotE, €el) 2,000,000& 2,000
02 SN 67,000 54,000 13,000
Oulzt &AM 5,000,000 = 1204 & 60,000
OMEHSEAM2 M2tEAH 1,000,000 «7IH 2 7,000
SN2EAIY =& 20,700 11,620 9,080
201 L Er2A | 20,700 11,620 9,080
01 At 22l bl 20,700 11,620 9,080
OsAHAZaUE 8,620
BARIE =S 200,000& x5H 1,000
Al &f 4,930
- =S ((1~384) 690,000& 690
- =SR2 ((4-684) 690,000& 690
-SUS® 1,900,000 1,900
- 2B (iE) R 1,650,000& 1,650
828 W& 1,000,000& 1,000
o4 M 15,0002 46K 690
A =8 EZ 1,000,000& 1,000
O=AEd s degia 1,700
SH B SH4EA 7
100,000& * 170 & 1,700
O=Ads0tel 249 3,380
SNSotel ZA=E 140,000 * 1704 & 2,380
=8 ZA=F EZ 1,000,000& 1,000
OSAM g4d3t i 1,000,000& 1,000
O=MHEZ 2% &4l 1,500,000& *43! 6,000
AEEFLES FA 783,337 916,839 A 133,502
=2 10,165
- Hl 773,172
dRRE 2 783,337 916,839 A 133,502
= 10,165
Tl 773,172
XA 2SI1e =2 &H DHXR 27,024 27,024 0
= 7.147
Tl 19,877
201 LEr2A | 27,024 27,024 0
= 7,147
I 19,877
01 At 22l bl 27,024 27,024 0
OXNLHZSEZTZANAE “FEH WA 4t
27,024,000 27,024
= 7,147
-l 19,877
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M RHHEEs =W
g d2E 2 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
NAZEs I st 409,021 318,970 90,051
201 £B-2d| 47,521 45,470 2,051
01 At 22l 47,521 45,470 2,051
OHtolef A BHAL gtol &l A 44l 20,470
Al el AZERN 870,000 870
- PCE WAl 28,000& 7002 19,600
OgeE 4ELZEAN Y 27,051
MS-OFF | CE 381,000 *712 27,051
203 2P EF Y| 500 500 0
03 Al F=XH R =ZH| 500 500 0
OZES HRFH 500,000& 500
403 MHXISHHE X201 E 52,000 0 52,000
02 SO 2SS E2 X HE AL B 52,000 0 52,000
SsJ|8t BAH W 52,000,000& 52,000
405 XtatE SHI 309,000 236,000 73,000
01 AL ESFH S 309,000 236,000 73,000
OMelE 237101 uH 144,000
HEHLIRE PC 1,200, 000& *100CH 120,000
HHYESE ZEH 400,000& *60CH 24,000
Osg AEC2XN UA2 &4 79,000,000& 79,000
O33J|gr HAXH Wi 40,000,000& 40,000
OSgEetEHI(UTM) 0l =3t &I
46,000,000& 46,000
dESNE &A 26,120 27,040 A 920
201 £B-2%| 25,620 26,540 2920
01 At 22l 25,620 26,540 A 920
OZFEstusg A=< 17,440
T8 FESu=E 80,000& 10 203 16,000
S2d FEsu= 80,0003 6L *33] 1,440
O&FEstu=s ulf M & 2E=S 6,600
HdEStWE 5,000 28 =403 5,600
dEstus REES 1,000, 000& 1,000
OFEXACUHS =& 1,580
-3 =8 2AME 80,000 x4 »23] 640
thal 22X &M 224l 500,000& 500
Hal &It D18 & 10,000& =44 440
303 Z& 3 500 500 0
01 243 500 500 0
OS2 FEXNACUG A4 500
ESEE 200,000& x1H 200
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M REEFES =X
chelr MUTE D (el:de)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
2 = 100, 000& *3H 300
2 EHOXN 29 9,849 219,849 A 210,000
201 et A H| 9,849 849 9,000
02 332ZH| 9,849 849 9,000
OSHOIA SISO AHHA AFE2
55,000& ~12& 660
OZHOIX SO A= 189
st2 og4yl F=4A 99,000 =14 99
AE L sl 30,000& =34 90
OEHOIK AZEAN S22
150,000, 000& *6% 9,000
HHHDAAY 2 263,988 272,902 18,914
201 Bt A H| 158,529 167,719 A9,190
02 332494l 158,529 167,719 A9,190
O2-Uet & d8XZ2M AMAE SANES 21,565
2-Utet JIEE AZEN
10,230,000& *x10% 1,023
2-Liet AIAEAH 103,998, 000& *7% 7,280
- 2-Lek HI0IEHuolA AZTEY N
50,930,000& *15% 7,640
SN ZEM AZTERN 83,823,810& *5% 4,192
- AXFZ CIOIEHolIA AZTERN
28,600,000& *5% 1,430
OEXNEE ANAE SN2 17,073
-EXNEFE2e A 97,322, 700& *7% 6,813
-EXNEE HOoIEMOoIA AZTERN
68,400,000& *15% 10,260
OUE<IAa &Hl X2+ 38,184
-HESRZ g2 & AAX AU
513,571, 770& x7% 35,951
Y EXES SAEY 31,900,000 *7% 2,233
OFEES Y JUEEES AAE RIEH 25,321
A AIAE 38,610,000 *7% 2,703
e 2ste AlA"- 40,000, 000& *7% 2,800
- Qe uhatE A AEI(20H) 26,224,000 *7% 1,836
PCOHQI A EE S HAMAAE
42 ,700,000& *7% 2,989
- NHEZMO A AE 29,634,000& *7% 2,075
- DBE 2 HI O Al A &l 27,000,000 *7% 1,890
CUHESRZAD B2 HOH AIAE
57,950,000 *7% 4,057
- E 85 02| (UTM) 60,900, 000& *7% 4,263
SIS0 (USB)AI AE 38,675,000 «7% 2,708
OXZe MAENH RXE%E 8,261,000& *7% 579
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SA - BB B () - MM - BES Ol &t o San HTimES
ORolgagzll RANE=> 4,078
CRoI0IAL =D (3H) 58,250,000 *7% 4,078
O&4ts 2HEH RXE= 4,422
st2stsol(20) 22,266,960 *7% 1,559
SN MAZ (& aA) 17,279,000 *7% 1,210
SEHM MAZFXI(SAA) 18,606,000 *7% 1,303
S22 X0l 5,000, 000& *7% 350
OS8 HENEEX RN+
189,200, 000& *6% 11,352
OBIYLE NS F2HIII RNSS 31,790
PO(TE ¥ SFUMEH) ST
1,000, 000& »500CH 5% 25,000
CHEH(SFUME) X2l
500, 000& *70CH *5% 1,750
PC 3 WA 120,000& 422 A 5,040
OUAD AL SXS%
59,498,000 *7% 4,165
308 XX EHSOIA 105,459 105, 183 276
10 B2 S0t B & XA 105,459 105, 183 276
O2-Uet AlAHE 2SENE sX2e
13,581,000& 13,581
OAlZ+ 23718t dM4FE |FXE2+ /A
83,997,000 83,997
OAZF Mol=2FAIAE RXNE A
1,721,000 1,721
ONYHEFZSHEANAE MHAHAR 2SS
& 6,160,000 6,160
data 29 34,226 33,340 886
201 Let249] 29,353 28,933 420
01 AR 22| 8.530 8,530 0
O=ZglH ElY 190, 000 *2JH «2CH 760
OUESIA AR (2AM XEAE) 2,370
UTPAI 01 2 120,000 » 162 A 1,920
== 3,000& » 1504 450
Odata SPEZEMAZX BIH WA
200,000 *204 4,000
ogzgsll 428 1,400
HOotA S 1,400,000& 1,400
02 2324gHl 20,823 20,403 420
O&E3H A 20,823
ToATHSIIA, Bdstg2, SNEFHY
278,400 x33| & 128 10,023
TodIH 70,000& x12& 840
ToZEiis=8Ed 300,000& =122 3,600
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ool MXTE P
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SN HE B (BH) - MR - BES e bl D=2t
TFodtHdiisE8EZH 100,000& »12& 1,200
oSS T IS AN 310,000& 122 3,720
HADNSE 3d 120,000& 12 1,440
301 L2 A F 4,873 466
0B A =RAB A4S 4,873 466
OduAEE X 4,873
== 216,800 x1H 128 2,602
S A 6,0003 «1H 22«12 1,584
- W SHl 2,6003 x1H 22U «12& 687
XA SSEHHEMAH =X 13,109 A4,605
2 3,018
T Hl 10,091
201 LB-2dH| 13,109 A 4,605
2 3,018
T Hl 10,091
01 At 22l 13,109 AN 4,605
OAZF Mol=72HAH 7= Xz
13,109, 000& 13,109
2 3,018
T Hl 10,091
B2 AU (BHss) 161,959 54,199
Jl=34l 15,336 0
Jl2&l 15,336 0
201 Let24d] 11,136 0
01 At 22/l 11,136 0
ORNMZ2E+=EHl 5,760,000 5,760
ORN2YE Sl 5,376,000& 5,376
203 YR =2l 4,200 0
04 2N2HAR =T 4,200 0
ORA2EIRFAHI 4,200,000 4,200
ol 2d | 146,623 54,199
ol 2| 146,623 54,199
101 @124l 146,623 54,199
02 JIEtE B = 146,623 54,199
OBMUEA LErAIIM(0IZ2) (1Y) 35,306
HE 25,537,000 25,537
CANZRAZ R 5,388& *33Al 2+ 12 2,134
& Mz AlY| 130,000& 12 1,560
- HIHE Al
2,128,080 *84%*86%+*1/30% 12 615
- = Lo 20,0003 x13 128 3,120
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M HY2IAZH (SIS
& o 2d|
SA BB O () - NRAY - HES 0l &+ o4 il
=] 105,000& = 12& 1,260
el & =Hl 50,000& =122 600
IHEE 40,0003 x12& 480
OEMIUSA AIZFAEHYIIH(0tZ)(1E) 27,773
S-S 18,047,000 18,047
N2 R 4,3523 x30A 2+ x 12 1,567
HHZ A 130,000& = 12& 1,560
- HOHE Al
1,503,916 2 «84%*86%+*1/30%1/7*63Al 2t 326
- SO 20,0003 x13 »7/8AI 2+ x 128 2,730
SR 105,000 *7/8Al 2t 12& 1,103
tHere sl 50,000 *7/8Al 2t*12& 525
22y B8& 19, 150,000& *10% 1,915
OBMUSA AMZAEHADH(242)(1Y) 16,065
A= 7,160,000 7,160
A2 RY 7,252 x60A| 2t 58 2,176
- HHg Al 130,000& x5 650
Lot A
1,432,000 «84%*86%x1/30%1/4%24 Al 2t 207
- = WO B 20,000 *4/8A1 2tx13 x5& 650
ES =g ]| 70,000& x5& 350
CHOl & = Hl 50,000 4/8Al 2t+12& 300
s 60,000& 52 300
Jl22g B8 E  18,510,000& «10%/12x5& 772
F0tsd =¢ 500,000 +x7& 3,500
OZMUEA SFAILIIHM(82)(1Y) 13,340
s 5,730,200& 5,731
CANZRAZ R 8,663 & x60Al 2++7& 3,639
HHg A 130, 000& »7& 910
- A g 2 105,000 *4/8AI 2+ +7 & 368
- el sl 50,000 4/8Al 2t+12& 300
- = I 20,0003 x13 #4/8Al 2+ +7& 910
zeg 2ag
10,453,200 *10%/ 128 «7& 610
SRS 10,453,200% /12& 872
OBMUNSA AMZFAESH DM (0tZ)(1Y) 28,514
HE 18,661,000& 18,661
SR 105,000 +7/8Al 2t« 128 1,103
el e sHl 50,000 *7/8Al 2t 12& 525
HHZ A 130,000& 128 1,560
- =Y 20,000 «13»7/8x12& 2,730
AN2Hel2f+4 4,499 x30Al 2+ 12 1,620
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SN EB S (3H) - NEAY - BES ofl &k o San HDE2
- HOLE Al
1,555,057 2 x84%*86%*1/30%1/7x63 Al 2+ 338
IR BEE 19,764,000 x10% 1,977
OAA AIZEEEEH LD M (98 A E)(1H) 25,625
- oS 15,994,870 15,995
A2t 225 4,499% x40A| 2Hx12& 2,160
- HoHZ A 130,000& ~12& 1,560
- SOt A H
1,332,910 x84%*86%*1/30%1/6%36 Al 2+ 193
- = Wbl 20,0002 * 13 *6/8Al 2tx12& 2,340
- A2 X 105,000 «6/8Al 2+« 12& 945
ol & = 50,000& *6/8Al 2t x12& 450
s 20,000& x12& 240
IR BEE 17,419,870 x10% 1,742
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